Câu 42:
 [2D2-3.1-3] Xét các số thực 
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Vậy 
[image: image16.wmf](

)

1

0

2

¢

=Û=

ftt

. Khảo sát hàm số, ta có 
[image: image17.wmf]min

1

15

2

æö

=

ç÷

èø

=

P

f

.
Câu 32:
[2D2-3.2-3] (MĐ 105 BGD&ĐT NĂM 2017) Với mọi số thực dương 
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A. 
[image: image21.wmf](

)

(

)

+=+

1

logloglog

2

abab


B. 
[image: image22.wmf](

)

+=++

1

logloglog

2

abab


C. 
[image: image23.wmf](

)

(

)

+=++

1

log1loglog

2

abab


D. 
[image: image24.wmf](

)

+=++

log1loglog

abab


Lời giải:
Chọn C
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Lấy log cơ số 
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Câu 31:
[2D2-3.1-3] (MÃ ĐỀ 110 BGD&ĐT NĂM 2017) Cho 
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Khi đó 
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Câu 33:
[2D2-3.2-3] (MÃ ĐỀ 123 BGD&DT NĂM 2017) Cho 
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